MPSC Answer Key 2022, MPSC Group B Combine Exam Official
Answer Key

Question 1
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ider the following statements : ¢
SOHSITE: p:stoofoilé] gSarpanch (who is elected by the members of Gram E?n(c;fgat;
s or Upa Sarpanch, as the case may be, that has fgllf:o fysaltl:?h 2 o
resignation) shall be filled in within thirty days from the da D
b. The post of the directly elected Sr:xr;;ﬁancl;1 that has¢ fallen vaca
ithi ths from the date of such vacancy.
c Xlglélr‘;g;egfrgo(gra; 1i;)anv:hayat whose post has become vacant l()iueeti? z_il;t))lseenfgi
" for continuous meetings of the Gram Panchayat shall not be eligl
re-election. o e
Which of the statements given above 1s/are COrrect :
(1) Onlya (2) Onlyaande (3) Onlyb andc (4) a,bandc

Ans: Option 1
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Question 2
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Consider the following statements about the provisions of the Village Development
Committees of Maharashtra Gram Panchayat Act :
a. The total number of members in a Village Development Committee shall not be
less than seven and not more than seventeen. :
b.  Not less than one-third of its members shall be from amongst the members of
the Gram Panchayat.
¢.  Not less than one-half of the members shall be women.
d. The Deputy Sarpanch shall be its ex-officio chairman.
e. Gram Sevak shall be its ex-officio member-secretary.
Which of the statements given above are correct ?
(1) Onlya,b,candd (2) Onlyb,cande
(3) Onlya,b,cande (4) All of the above
Ans: Option 2
Question 3
3. ‘Gl s aTET IFH &,
(1) TSIYTE 98 € Fa
(2) g wrda ¥ © HusTE
(3) HTR-UST URwg T e
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The ‘Sarkaria Commission’ favoured
(1) abolition of the office of the Governor
(2) abolition of All India Services
(3) abolition of Inter-State Council
(4) None of the above
Ans: Option 4
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Question 4
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Which one of the following statements is correct about the Advocate General of the

State ?

(1) He shall hold office during the pleasure of the State Council of Ministers.

(2) His remuneration is determined by the State Legislature.

(3) He may appear as an advocate in cases against the State Government for a
private party.

(4) None of the above

Ans: Option 4

Question 5
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Assertion (A) : Legislative control over administration in a Parliamentary system is
different from that of Presidential system.
An important feature of democratic government is the legislative
control over administration. :
Both ‘A’ and ‘B’ are true and ‘B’ is the correct explanation of ‘A’.
Both ‘A’ and ‘B’ are true, but ‘B’ is not the correct explanation of ‘A’.

Reason (B) :
(1)

(2)
(3) - ‘A’ is true, but ‘B’ is false.

(4) ‘A’ is false, but ‘B’ is true.

Ans: Option 2

Question 6
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Which of the following statements related to ‘Money Bill’ is/are correct ?

a. It can be introduced either by a minister or by a private member.

b. It cannot be introduced except on the recommendation of the Governor.

If any question arises whether the bill is a money bill or not, the decision of the

Governor is final.
d. In case of a deadlock over a money bill, the Governor can summon a joint

sitting of Legislative Assembly and Legislative Council.

Answer Options :
(1) Onlyaandb i (2) Onlyb
(3) Onlya,bandc (4) Onlya,candd

C.

Ans: Option 2

Question 7
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The Parliament of India acquires the power to legislate on any subject in the State
List in national interest if a resolution to that effect is passed by the

(1) Lok Sabha by a majority of ité total membership.
(2) Lok Sabha by a majority of not less than two-thirds of its total membership.

(3) Rajya Sabha by a majority of its total membership.
(4) Rajya Sabha by a majority of not less than two-thirds of its members present

and vatinea
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Ans: Option 4

Question 8
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Consider the following statements with reference to Maharashtra :
a. Zilla Parishad may meet as often as may be necessary, but one month shall not
intervene its last meeting and the date of its next meeting.

b. The President of Zilla Parishad shall call a special meeting on the written

request of not less than one-fifth members.

Every meeting shall be presided over by the President, or if he is absent, the

Vice President shall preside over it.

d.  In the absence of President and Vice President, the meeting shall be presided
“over by the Chairman of subject committee.

Which of the above statements are correct ?

(1) Onlya,bandc (2) Onlyb,candd
(3) Onlybandc (4) All of the above

‘

Ans: Option 3

Question 9
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Generally, the High Court of a State consists of a Chief Justice and
(1) nine other Judges
(2)  such other Judges as may be determined by the Governor
(3) such other Judges as may be determined by the Parliament
(4) such other Judges as may be determined by the President

Ans: Option 4

Question 10

o
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The Constituent Assembly appointed a number of committees to deal with different
tasks and works of Constitution-making. Who was the Chairman of the Rules of

Procedure Committee ?
(1) Dr. B.R. Ambedkar (2) Alladi Krishnaswami Ayyar

(3) Dr. Rajendra Prasad (4) Dr. K.M. Munshi

Ans: Option 3

Question 11
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2 1 II1 v I
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(4) III II v I
Match the pairs :

A

a. Balshastri Jambhekar

b. Gopal Hari Deshmukh

c. Mahatma Jyotiba Phule

d. Maharshi Dhondo Keshav Karve
Answer Options :

a b c d

1 MW v II I

2 1 I11 v |

3 II 111 I v
(4) 1III IT v I

Ans: Option 2
Question 12

feafogroms afeer grend
KEIEEIG IR e

HATY dTeT=h1sH

B
I.  Establishment of Widow Home
II. First supporter of female education
III. Congregation for remarriage
IV. Orphanage
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The first Aviation Company that was started in 1932 by an Indian Industrialist was :

a. Indian National Airways
b. Tata Airways Ltd.

c. Imperial Airways

d. Indian Trans-Continental Airways Ltd.
Answer Options :
(1) Onlyaandb
(3) Onlyb

(2) Onlycandd
(4) Onlya

Ans: Option 3

Question 13
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“For realis_tif: progress of the nation, progressive religion should be spread out. As
long as religious awareness is happening, till then realistic success is not achieved.”

This opinion was of
a. Dr. Bhandarkar G.G.
b.  Justice Ranade

c.  Justice Telang b

d. Dr. Atmaram Pandurang Turkhadkar

Answer Options :

(1) Onlyaandd. (2) Onlyaandb
(3) Onlyd (4) Onlya
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Ans: Option 2

Question 14

4. TV TS SAEE AT BV JETHATGT ST IS ST Breed! 2
(1) WHMER =g (2) MR
(3) ey (4) FESH
Narayan Meghaji Lokhande presented the questions of workers in which of the
following newspapers ?

(1) Samachar Chandrika (2) Prabhakar
(3) Deenbandhu (4) Dnyanprakash
Ans: Option 3
Question 15
15. Gl Sts=n e
H. gt e I ‘ofigey gor oy
9. e Uﬂ% II. fresha Sameet s
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Match the following :
a. Pandita Ramabai IL. ‘Stree-Purush Tulana’ Book
b. Ramabai Ranade II. Establishment of Nirashrit Seva Sadan
& Tarabai Shinde III. Establishment of Sharada Sadan
d. Janakka Shinde IV. Establishment of ‘Hindu Ladies Social Club’
Answer Options : :
a b c d
(e T II1 v k-
(Z)Nn T TI1 11
(8)" "I v I 11
(4) IV II 111 I
Ans: Option 3
Question 16
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Paramhans Sabha was established at Mumbai in 1849 and gave the emphasis on the
following reforms :

a. Widow Remarriage b. Women’s Education
c. Break the Caste Barrier d. Acceptance of Idol Worship
Which of the statements given above is/are correct ?
(1) Onlyaandb (2) Onlybandec
(3)  Onlyc (4) Onlya,candd
Ans: Option 3
Question 17
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Match the following regarding and emergence of Indian workers and Labour

movement :
a.  Narayan Meghaji I First President of All India Trade Union
Lokhande Congress _
b.  Mahatma Gandhi II. Establishme_nt of Madras Labour Union
¢. B.P. Wadia III. Establishment of Ahmedabad Textile
Labour Association
d. Lala Lajpat Rai IV.  Placed the problems of labour through
Deenbandhu newspaper
Answer Options :
a b c d
(1) IV I11 I1
(2) III v I I1
(3) 11 I v 111
(4) IV I n b
Ans: Option 1
Question 18
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Who made the following thoughts/statements regarding the effects of colonialism on
Indians ?

a. Indian economy ran overseas. .
b. Due to economic abstraction, world known enriched India became poverty

stricken. B
c. An exploitation of Indian economy 18 like Ransom.

d. By taking sword in hand it is time to manage our business.
Answer Options :

a b c d
i i i i Gopal
Ramesh Chandra  Justice Sir George Lokl}lmadl p
- D?lfcxtl:e Ranade Oxenden Hakr;1 pesl'g?:mékh :
ice Ranade Sir George Ramesh Lokhitwadi Gopa
e Oxenden Chandra Dutt  Hari Deshmukh
(3) Lokhitwadi Gopal Ramesh Justice Ranade Sir George Oxenden

Hari Deshmukh Chandra Dutt

ice Ranade Lokhitwadi Sir George Ramesh Chandra
) Gopal Hari Oxenden Dutt
Nechmukh
Ans: Option 3
Question 19
19. TP e A, ¢ 3 -G B, WY 99 SR WRA Jaad Ed, ®

eI SHIOTE 3Tl fehmE gerea fiesten wer.” Meded J Giefleiih] a7 Taiae Wl
(1) FEeI S (2) vt e
(3) 1@ HYUF TG (4) =W SR

According to Dadabhai Naoroji, ‘What was being drained out was ‘
, that could generate more economic development if invested in India.” Fill

in the blanks with the given right option. A

(1) Handicraft production (2) Indian currency

(3) Entire cotton production (4) Potential surplus
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Ans: Option 4

Question 20
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Which of the following crops production increased due to commercialization of
agriculture during British Period ?

a. Tea, Wheat b.  Sugarcane, Cotton
c. dJute, Indigo d. Tobacco, Opium
Which of the statements given above are correct ?
(1) Onlyaandb (2) Onlya,candd
(3) Onlyb,candd (4) All of the above
Ans: Option 4
Question 21

21. d%mwmﬁm%l%mamﬁﬁumﬁﬁmﬁm@m?

- (1) Eeu-fi (2) Fwufig
(3) HH-uE 4) e gm o
Which award was given to Pandita Ramabai by the British Government ?
(1) Kaisar-e-Hind (2) Kaisar-e-Hindu
(3) Kaisar-e-Lady - (4) Indian Super Lady
Ans: Option 1
Question 22
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Who was the first leader of the revolution of native for farmers ?
a. Baba Bhand b. Bijania c. KajaraSingh d. Tantya Bhilla
Which of the statements given above is/are correct ? '
(1) Onlyaandb (2) Onlycandd
(3) Onlyb (4) Onlyd
Ans: Option 4
Question 23.
23. PR} SeTETeh geara wrefteid Hore TSI SAedt ?
(1) s amifer fiy (2) WeRTy et Fetesh
(3) a1y waw S7fr airfvan (4) < smfor faem
The Civil Rebellion began from which of the following regions ?
(1) Punjab and Sindh (2) Maharashtra and Karnataka
(3) Andhra Pradesh and Orissa (4) Bengal and Bihar
Ans: Option 4
Question 24
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Identify the following people who have done work for emancipation of women :
a. The problem of child marriage was placed in the famous Drama : ‘Sharda’.
b.  Before the Hunter Commission, the condition of women’s education was placed
in numerical data.
¢. ‘Shardashram’ was established for widows.
d. ‘Maze Puran’ an autobiography was written.
Answer Options :
a b c d
(1) Pandita Ramabai Govind Ballal Anandibai Karve Ramabai Ranade
(2) Ramabai Ranade Anandibai Karve Pandita Ramabai Govind Ballal
(3) Vidhyaben " Ramabai Ranade Anandibai Karve Govind Ballal

Nilkanth .
(4) Govind Ballal Pandita Ramabai Ramabai Ranade Anandibai Karve

Ans: Option 4

Question 25

http://www.adda247.com/mr | Adda247'FITIB°rApp | https://t.me/Adda247Marathi


Dell
Line

https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
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Which of the following statements are true regarding the Revolt of 1857 ?
With treacherous attitude Pant Sachiv of Bhor Chimnaji Raghunath (first)
tendered Rango Bapuji Gupte to Britishers.
b. Rani Bakabai of Nagpur Bhosale Dynasty supported the revolters.
c. Chimasaheb of Kolhapur Chhatrapati Dynasty participated in revolt.
" d. Son of Rango Bapuji Gupte Sitarampant and Ramji Shirsal of Sawantwadi also

participated in the Revolt.

a.

Answer Options :
(1) Onlyaande s ae R
(3) Onlya,candd (4) Onlycandd
PTO
Ans: Option 3
Question 26
26 15
- WA St i gy e TR
(1) N |
H44 (2) NHo1 (3) NH 48
The lon i p- b
gest National Highway in India is
1
(1) NHa44 (2) NHo1 (3) NH
48 (4) NHO06
Ans: Option 1
Question 27
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3. s L  gi=h
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gt I

3 T ® 2B
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Match the Industrial Regions and Industrial Areas :

a. Nashik I.  Butibori
b. Kolhapur II. Shendra
c. Nagpur III. Vinchur
d. Awurangabad IV. Hupari
Answer Options :

a, b c d
() IV III IT I
(2) III T II IV
(3) III I 1A II
(4), 11l IAY I IT

Ans: Option 4
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Question 28

Ans: Option 4

Question 29

Ans: Option 1

Question 30
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30. wRdtg qenA T Hifea, 2017 THW WA HI0 T TR AR SeEed gE

HUTHE TT 378 ?
(1) WETTS (2) TEAH
(3) | W (4) IW T

Which State of India accounted for the second rank in National Highway length as
per report of Basic Road Statistics of India, 2017 ?

(1) Maharashtra (2) Rajasthan

(83) Madhya Pradesh (4) Uttar Pradesh

Ans: Option 4
Question 31

3l.  Wreferiehl shivmT y2w WTardiel 1 s diar fam gHfedt ?
(1) feuspedry faum
(2) wifom @ srEmudaen fEaerRfia fawm
(3) wey faum
(4) T AEH

Which one of the following regions indicates the example of high intens
earthquake in India ?

(1) The Zone of Peninsula

(2) Himalayan Belt from Kashmir to Assam
(3) Central Zone

(4) Ganga Plain

ity zone of

Ans: Option 2

Question 32
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82. 2011 =1 SFVENHI HETSTdel TGO HIR/H ae gare /e ?
A, AT eheEEE T 4523 AR,
9. WENIIST A S A i a.
®. HEWSgE AT SeREE 5,08,27,500 A IR,
T, mETTSgE g fer AT e wea wH .
ot I
(1) & Famfora
(2) %ad &
(3) had 3 Ul &%
(4) WwH T

As per 2011 Census, which sentences is/are false for urbanization in Maharashtra ?
a. The percentage of urban population is 45-23.

b. Maharashtra stands third in urban population.

c.  Urban population of Maharashtra is 5,08,27,500.

d. The lowest urbanization level is in the Nandurbar district of Maharashtra.
Answer Options :

(1) Onlyaandb

(2) Onlyec

(3) Onlyaandc

(4) Onlyd

Ans: Option 4

Question 33
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33. WERIdIA Seitdsd A 9 e e g @ e &

forear FeArGET FIFTT
¥, HEr I  g&
¥ AR II. fesqgd
®. Aee III. et
T. J9qqis IV. sse
qaidt IW

| T & E
1) 1II II1 v I
(2) - HI I 11 v
(3) II v I II
4) IV II II1 1

Match the correct pairs of Irrigation Schemes and Districts in Maharashtra :

District Irrigation Scheme
a. Satara I. Mukane
b. Nashik II. Vishnupuri
¢. Nanded III. Kanher
d. Yavatmal IV. Bembala
Answer Options :
a b c d
(s aY I11 1Y |
(2) 1II I 11 v
(3) I 1\Y | 11
(4) IV 11 111 |
Ans: Option 2
Question 34
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34. st e arg onfor @i oo Jeaes T e
(1) *3 (2) femreet wew

(3) T (4) 3TEH

The State which produces natural gas and mineral oil in India is ___

(1) Kerala (2) Himachal Pradesh

(3) Goa (4) Assam

Ans: Option 4

Question 35

35. et o e e T STET Seigan Sedl HH e ?
(1) worfean, s, gdi, we
(2) weW, a4l, &, SortEd
(3) SuTfe, @t SERI, WIS
(4) TSI, e, 9, SoTEd

Which of the following options shows the correct ascending order by length of the
tributaries of Godavari river ?

(1) Pranhita, Pravara, Wardha, Manjra
(2) Manjra, Wardha, Pravara, Pranhita
(3) Pranhita, Wardha, Pravara, Manjra
(4) Manjra, Pravara, Wardha, Pranhita

Ans: Option 1

Question 36

36. Wﬁﬁﬁmmﬂﬁ,mwmmaﬁmmmwm 1938

aqey HIvft et ?
(1) =i @ fag (2) =i, e st =, o
(8) €. giagees (4) <. =g anfn &

On the basis of soil formation, the first detailed and scientific soil classification of
Maharashtra was done in 1938 by :
(1) Dr. D. Smith (2) Dr. Kellogg and Dr. Thorp

(3) Dr. Dokuchaev (4) Dr. Basu and Dr. Shirur
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Ans: Option 4

Question 37
37. mqmﬁmmmmwm'mmmwm?
(1) Zame, siraq snfo & @rd
(2) warght, awrwre s FHavh ard
(3) wunym, wemas i dae ard
(4) e, aad sufo zfaat @rd

Which creeks are included in the ‘Central Konkan’' of Maharashtra’s Konkan

Regional Division ?
(1) Deogarh, Achara and Karli creeks
Rajapuri, Bankot and Kelshi creeks

(2)
(3) Dharamtar, Kalawal and Terekhol creeks
(4) Dahanu, Vasai and Datiware creeks
Ans: Option 2
Question 38
38. =g snfo fufysia 3¢ favs arefl ama
(1) 38 39 999 4 (2) TS W I §B
(3) T& W 9He 03 (4) Y I I gD
The Laccadive islands and Minicoy islands are separated by
(1) Eight Degree Channel (2) Nine Degree Channel
(3) Ten Degree Channel (4) Zero Degree Channel
Ans: Option 2
Question 39
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39. S.A. BEwEt wem gamm afg=m
Sihben mﬁagﬂﬂ%ﬂafﬂ fpmadata e wm s g asEm

(1) v 3 gammH

(2) 37 Hidsefia b game

(8) 351 wicaefia yraEEl (WI=gH) g
() i e o g

As per G.T. Trewartha’s climate classification, Western Coastal Plain and Tripura
State exhibit which of the following types of climate ?

(1) Humid Mountain Climate
(2) Tropical Arid Climate
(3) Tropical Monsoon Climate

(4) Humid Sub-tropical Climate

Ans: Option 3

Question 40

40. Wmmmmmmﬁmmmm?
(1) 58% (2) 65%
(3) 85% (4) 95%
Which of the following percentage indicates the proportion of rain received in
Maharashtra from North-Western monsoon i
(1) 58% (2) 65%
(3) 85% ' (4) 95%

Ans: Option 3

Question 41
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41, 1995 WY ¥% WewieN AR T SN Seg Fuer HoaErd] g5 FA

ATEAL.
(1) fodeyget frem
(2) UTE Far At

(8) SfehT ATHITA AT
(4) AW 9@ ggha

was introduced in 1995 for inexpensive and speedy settlement of
bank customer disputes.
(1) Prudential Norms
(2) Customer Service Committee
(3) Banking Ombudsman Scheme

(4) International Accounting Practices

Ans: Option 3
Question 42

42. wrela faus fo=mm =
T ¥ G, YR SR SR 1948 WY T S affdie fep hefl.
5. afidms o B, e, T e, T st . o . e, e A
T BT .
. r@amaﬁ?ﬁmw%wmwmq@mﬁ%nWHMn@m.

¢ fedrean et Sow Ruw/@d fon gt /e ?

gt I ;
(1) e A (2) HaEd 3F 0T
(3) ad F M & (4) HaEd 9 AT

Consider the following statements :
After Independence, the Government of India appointed the National Income

Committee in August, 1948.
b. The committee consisted of Prof. P.C. Mahalanobis, Prof. D.R. Gadgil and

Prof. V.K.R.V. Rao.

¢.  The first report of the National Income Committee appeared in 1951 and the
final report in 1954.

Which of the statements given above is/are incorrect ?

a.

Answer Options :
(1) Onlya (2) Onlyaandb
(3) Onlyaandc (4) Onlybande
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Ans: Option 1

Question 43

M

43. T wmdi At i TEe sumEi UiemTea coAEEl HEgESl FAu
(1) fed &
(2) TE dF A sfeam
(3) AmTE
(4) Fla wd

is the apex organisation to provide credit for the promotion of

agriculture and allied activities in rural areas.
(1) Reserve Bank

(2) State Bank of India

(3) NABARD

(4) All of the above

Ans: Option 3

Question 44

44, g ALEHET 2021 — 22 T g THLSAT IeTATET Fad ST Ad HIOMT T2 ?
(1) =& AT Har T
(2) S =Y ST SR I
(3) s
(4) WARE
What is the biggest source of income for the Central Government in the Union
Budget 2021 — 22 ? '
(1Y GST
(2) Borrowing and other liabilities
(3) Income Tax

(4) Corporate Tax

Ans: Option 2

Question 45
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45. 2011 =41 SUAIER ST AeEEIE aa 3.

(1) 117 wia =t fo.H1. (2) 157 wia =1, f.i.
(3) 282 wfa =1 feb.4. (4) - 382 i <. ..
According to the 2011 Census, the density of popﬁlation in the country is
(1) 117 per sq. km. (2). 157 per sq. km.
(3) 282 persq. km. ' (4) 382 per sq. km.
Ans: Option 4
Question 46

46, AT eduE e Afiwe) @ el o frem ate 777 ?
(1) %ErE Ieardiel a1@ @ WEteho AT Fepnieieh dey 7.
(2) wEOSW  VSTRATE FT=ATd daeay Ta.
(3) vriwwnEEd clhren EeiiaHren g9l a1e #. ;
(4) vl @ SEANETelel SR AeATd T Jad 8.
Which of the following statements is not correct regarding qualitative
characteristics of India’s population and urbanisation ?
(1) There is positive co-relation between per capital income and urbanisation.
(2) There is no co-relation between urbanisation and employment.
(3) There is increase in standard of living with urbanisation.
(4) There is negative relationship between urbanisation and population below

A R T

Ans: Option 3

Question 47

47. A SR S yonelny @Il amdEn Somn g g ghmn g % e

g ?
(1) TIFIA b8 (2) waETEe JfRT
(3) few s (4) e dfET

Which of the following market segments is growth and profit oriented in the Indian
Commercial Banking System ?

(1) Mutual Funds (2) Mobile Banking
(3) Retail Banking (4) Internet Banking
Ans: Option 3
Question 48
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48.  WRAW il IeATEHAT YT 2F STeiat AFed 8. = T

. difAs €eH q. A
®.  HEATHH 9H g f&== gl
it I

(1) e 3 3T & (2) Had A T B
(3) wed 3 U § (4) Ha & M T

Productivity in Indian agriculture is mainly dependent on two sets of factors. Those
are :

a. Technological Factors
c¢.  Institutional Factors
Answer Options :

(1) Onlyaandec

(3) Onlyvaandb

b. Human Resource
d. Irrigation Facilities

(2) Onlyaandd
(4) Onlycandd

Ans: Option 1
Question 49

49. @il faeiy S onfr sigEs swEwaTE R, 2003 S wE sRp/stes

HTR/ATE ? _

3. HAGG HIEHATHIG TR Hellar wier Fiwsa o,

ﬁ q2 I T3V iy ferfia qg et o,

. STEATSA AT FIHhTSITg UHESishal GHmo.

gt I

(1) FOATH THet T (2) wdawh 7

(3) e 3 M1 § (4) ad % AT 8

Which of the following is/are the objectives of Fiscal Responsibility and Budget
Management Act, 2003 ?

a. To set limits on government borrowings under a time-bound programme.

b.  To achieve zero revenue deficit and bring down fiscal deficits.
To make the government responsible for ensuring long term macroeconomic

<.
.
S

c.
stability.
d. Improving transparency in the fiscal operations of the government.
Answer Options :
(2) All of the above

(1) None of the above

(3) Onlyaandb (4) Onlycandd

Ans: Option 2

Question 50
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50. WRaWie Oy anfdfe &eme wreiietsh Sivh meas 3kRe 778t 2
(1) e i foram semar=h fAfi
(2) Trafdien s
(3) =l fowE
(4) TR FAfE
Wl(;ich of the following is not an important objective of Special Economic Zones in
India ? '
(1) Generation of additional economic activity
(2) Promotion of export
(3) Development of agriculture
(4) Creation of employment

Ans: Option 3

Question 51

51, W @ Retedn S S wh auten s 1000 fed s
1 W GereAT Yo e .
(1) wad (2) U HiE (3) THARES  (4) TS fEw
The infant mortality rate is the number of deaths of children under of
age in a given geographical area during a given year, per 1000 live births.
(1) One year (2) One month (3) One week (4) Oneday

Ans: Option 1

Question 52

52. TEA anfe HeamTR FWHd] geHuan (eiE wdamr 2020-21) AN A A1 T
e HE 3G Iehd ? .
(1) U-3Tmir= (2) S-3THRE (3) V-3 (4) Z-ATHRH
According to Chief Economic Advisor Krishnamurthy Subramaniam (Economic
Survey 2020-21), what may be the shape of Economic recovery ?
(1) U-shape (2) S-shape (3) V-shape (4) Z-shape

Ans: Option 3

Question 53

B8, wraren il srlesen, 2020 U T FerAErd Frrht qrred) el zqrda A2 7
(1) 6%q 26% (2) b% d 36% (3) b%d 30% (4) 5% A 20%
What is the range of tax rates for taxable income as per the Union Budget, 2020 of

India ?
(1Y Hhv% to 26% (2) 6% to 35% (3) - 5% to 30% (4) B% to 20%

Ans: Option 3
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Question 54

54.  Ereiereh! SHivrd e SISt e ?

§. AT SETET SN @ S datq S 3.
%. WA s R T drEr S S

ot I

(1) ed 31 T1foT & (2) hed & AT 6
(3) had 31 A (4) TR B! TE

Which of the following statements are correct ?
The price of electricity for Indian households is lowest in the world.

a.
b. The price of electricity for Indian industries is highest in the world.
c.  Cost recovery in distribution of power is satisfactory in India.
Answer Options : Sl :
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc L (4) None of the above

Ans: Option 1

Question 55

55. @reiia faur fommoa =
T ST .

A, AN SR 7 S9-2udie aeg o Farean fhued aefier

9. SR Ad aegen faia st e fafwE i
AT HeHia BT,

®. ST ST SAaERIINTeA A gatl g TgdH dhedl aw.

R e faum/framitd o fram/fae st m/sTed ?

qarHdt I

(1) b gd (2) % A

(8) ®FH (4) ad 3 AT

Consider the following statements :

a. International trade is based on differences in prices of goods and services from
country to country. .

The terms of trade refer to the exchange ratio of export and import goods or

their price ratio.
The Balance of Payments record in International Trade is maintained in a

standard double entry book-keeping method.
Which of the statements given above is/are correct ?

ey @ren fRAdE

b.

C.

Answer Options :

(1) All of the above (2) Onlya

(3) Onlyc (4) Onlyaandb
Ans: Option 1
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Question 56

56.  0-025 ST9E cElce SHoll STHAA =g Faors

(1) 3o =A (2) ufuems =g
(3) SEE =g (4) ¥ =g
A neutron having energy of 0-025 eV is a/an :
(1) Thermal neutron (2) Epithermal neutron
(3) Fast neutron : (4) Slow neutron
Ans: Option 1
Question 57

57.  HH! AIIHHTA IEQQH Iod AIEHEE TR, IWET EAETE !
(1) e 38
(2) QI8! 9% H9hid 397 I AR
(3) el aTEl T FEA d W AR
(4) IR TR

Transfer of heat from a body at low temperature to a body at higher temperature is

(1) impossible

(2) possible by keeping both the bodies in contact
(3)  possible by doing some external work

(4) None of the above

Ans: Option 3

Question 58
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58. SISl FHHIGHH! Uy SRaRar TS
(1) HEUEH IR digar
(2) &l FEvEHAE JEqE F3ie
(3) eI HEURHAE! S=a9 HAtal
(4) O = ‘
The minimum audible frequency of sound means
(1) threshold intensity of audibility
(2) lower pitch limit of audibility
(3) upper pitch limit of audibility
(4) None of the above

Ans: Option 2

Question 59

59. fa AR,
(1) ufcas TwieH (2) HEETST THICH
(3) o wHRew (4) Y TR
Diamond is a -
(1) Metallic Crystal ' (2) Covalent Crystal
(3) Ionic Crystal (4) Molecular Crystal

Ans: Option 2

Question 60

60. ___ fuy uge, 3= gmed d aee iR e R et sfdiede semme

IR HoAT FERE wEm.
(1) & fezerean (2) e fedfrerrem
(3) e disgT=Al (4) g Acgfufm=a
The high strength-to-weight ratioof alloy mainly recommends their use
in aircraft and automobile industries. :
_( 1) light steel : - (2) light titanium
(3) light copper 7 : (4) light aluminium

Ans: Option 4
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Question 61

6l. WIT=A AU FRSIHEA SN ARG SFEEE A AR BeA YEF dar F.
T ARG ® §5HH ITE AT
(1) ad 3= anfor arfessss
(2) wad sifcegss onft fohem
(8) e Jfesergs, foheH, wiferesTie EIDEr
(4) 3, Afceass, fohdm, wifrasifa Mg
In lower atmosphere, smog is formed by the reaction between hydrocarbon and
nitrogen oxide. This interaction produces as secondary pollutants.
(1) only ozone and aldehydes
(2) only aldehydes and ketones
(3) only aldehydes, ketones, peroxyacyl nitrate
(4) ozone. aldehvdes. ketones, peroxyacyl nitrate

Ans: Option 4

Question 62

62. 3T & Wi Woft IR o
. Hd gEey Y= 9 9 ol
%. SGHIIGHET I FATATEIS! Ll
. S Sig AT ot

Sheth FIR /AR SO /e 2
(1) e 3 o e 31 M1 &
(3) ad A, & AT * (4) &Fd & T S

Amoeba is a protozoan animal because
a. it is a cellular animal without tissues and organs.
b. it is the simplest and most primitive of all animals.

pseudopodia is present for locomotion.

o

d. itis a pore-bearing animal.
Which of the statement/s given above is/are correct ?

(1) Onlya (2) Onlyaandec
(3) Onlya,bandc (4) Onlycandd
Ans: Option 3
Question 63
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63. mmmmmwmmmmmmmm/w?
A bl e — gy s geeer

I wlaE gk o

F. AR g ghwkhE

g e sf — Ty I

gt I

(1) %o ¥ 3qfr % (2) Fad & AT B
(3) e I 0T = (4) T od

Choose the correct pair/pairs of the animal/animals and their scientifie

name/names ?

a. Asiatic lion — Panthera leo persica

b.  Royal Bengal Tiger — Panthera tigris

c. Indian Rhinoceros — Rhinoceros unicornis

d. Thamin Deer — Cervus eldi

Answer Options :

(1) Onlybandc (2) Onlycandd

(3) Onlyaandc (4) All of the above

Ans: Option 4

Question 64
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64. EElCIdehl HIUIT TR HyEr/AgE MeHd: SIS S e e ?

3. TR yoft &, 3wErR i

&, g ot s uef (mm)
qatdt IW :

(1) %% g (2) W @ TS
(3) Wed A (4) SR

Which of the following animal group/groups was/were the first vertebrate to become

adapted to life on land ?
a. Reptilians b. Amphibians
c. Mammals d. Aves
Answer Options :
(1) Onlycandd ' 2) Only b and d
(3) Onlya (4) Onlyb
Ans: Option 4
Question 65
65. LI AGfifes arffertor ggdt shft smya wEed ?
(1) fostiwrees (2) dem A gH
(3) whred fomme (4) sh.um. fag
Who discovered the natural classification system of plants ?
(1) Theophrastus (2) Bentham and Hooker
(3) Carl Linnaeus (4) G.M. Smith
Ans: Option 2
Question 66
66. @IcAieish! SHIUl HRehSIE TeREId aﬁnm@wﬂﬁm& e ?
(1) fFafar g 2% (2) FemTE 16
(3) glFa7ar Wghar (4) IR il

Which of the following is the causal organism of Wheat Rust disease ?
(2) Xanthomonas citri

(1) Puccinia graminis tritict &
- (4) Plasmopora viticola

(3) Puccinia purpurea

Ans: Option 1
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Question 67
St e o Erelieteh! hive HeHME wsd ? e
(4)

(1) e (2) fafe (3) dd

In Agriculture, groundwater is tapped by
(1) canals (2) sinking wells (3)

67.

ponds (4) tanks

Ans: Option 2

Question 68

68.  @rehicilieh) HIVA HISET B TS Hloreeial T Hies@el AT ?
(1) LDL ®eeete (2) VLDL wieretid
(3) LDLa VLDL et (4) HDL Heetd

Which of the following cholesterol is considered as good cholesterol ?
(1) LDL cholesterol (2) VLDL cholesterol

(3) LDL and VLDL cholesterol (4) HDL cholesterol

Ans: Option 4

Question 69

69. et freh (mfie) TISIER Tt et €, dowl QL e @, A e (S
fasmen) &M wgumE ?
(1) wydg Afcad
(2) wyHE safusH
(3) fereiiarRfia wymg
(4) TH-sgfer sracfaa ayie Aty
When kidney tubular reabsorption fails, copious urination follows. What is this
disease (metabolic disorder) called ?
(1) Diabetes mellitus
(2) Diabetes insipidus
(3) Juvenile onset diabetes ,
(4) Non-insulin dependent diabetes mellitus

Ans: Option 2

Question 70
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70. WEEds! S &9 digmere Gt I 2
(1) ofe™ FeHe-Tufe
(2) =fe=
(3) WH
(4) R[S, &Y, FEE
Which of the following vaccine is administered by oral route ?
(1) Bacillus Calmette-Guerin
(2) Sabin

(3) Salk
(4) Mumps, Measles, Rubella

Ans: Option 2

Question 71

9 B Afeehl, dom mreAwR 17 B9 Rigs wlze. ' ” S 31 9. S
TS e 5 e 7 W Hfemen 24 wmEn s, @

(1) 415 (2) 362 (3) 846 (4) 326

A devotee, while going to pray in the temple, put flowers on each step that indicated
its number. When he offered 9 flowers to God, he had 17 flowers in bhalance. If the
temple had 24 steps, then how many flowers did the devotee have ?

(1) 415 (2) 362 (3) 346 (4) 326

Ans: Option 4

Question 72
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72. i AT S die I R, O IEihS gedl s 30 B, wam e, d@ A
ereftere Fesdl anfer 20 f6.f). wETE wwEl. YRR @ Sudhe de@dl i 40 feoft. wEm s
TeR1 A Iudishs Jeadl anifn 35 fop Y. yam !, T T @ diE dvren fEen J@ 2

1 w©

(2) T

(3) AWy

(4) <fEm

Srikant stands facing north on the ground. He turns right and travels 30 km. Then

he turns left and travels 20 km. Again he turns right and travels 40 km. Again he
turns right and travels 35 km. Which direction is he facing now ?

(1) East

(2) North-East
(3) South-West
(4) South

Ans: Option 4
Question 73

79, wnelier s i fard Tl s, d fa fafime s wfe @ s wara faAa #A.

st e ot R R e 3 TR S SEAvI ST, S F g e,
faum

#, wfia qen s,

M, e foiee e sl

w,  mnrelid sgenft foase @aa ),

g sifi e we,

g 9 wd frde weam ) el s,

afdt 3w

(1) B® & (2) ®H¥H (3) #MAE (4) 3T

nts followed by several options
specific order. Choose the option
t is a conclusion drawn from

The following question consists of live stateme
consisting of three stalements put together in a
which indicates a valid argument i.e. the third statemen
the preceding two statements.

Statements :

a. Amit is a boy.

b, Some boys do not play cricket.

¢ No girl plays cricket.

d.  Amit plays cricket.

o All those who play cricket are boys.

Answer Options :

(1) den (2) eceb (3) abd (4) eda
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Ans: Option 4

Question 74

74, U 100 Fneaten aidi 40 fenf nfmm sw ww s 60 el 0 aﬁ:ﬁwfl
Sﬁwmiéﬂﬁﬁmﬁﬁmaﬁﬁmﬁ.mﬁﬁﬂﬁmﬁmﬁmﬂﬂﬁ .
(1) 5 (2) 15 (3) 8 (4) 16 |
In a class of 100 students, 40 students passed in Mathematics and 60 passed in
English. 8 students failed in both Mathematics and English. How many students

passed in both the subjects ?

(1) 5 (2) 15 (3) 8 (4) 16
Ans: Option 3
Question 75

75. mmsﬁ%@. e T i fig TR A, T dat 4 g Sireon=n T
FTged1, AT A fehdl T FHedl I ?
(1) 25 (2) 29 (3) 27 (4) 28
There are 8 points in a plane, no three of which are collinear. If lines are drawn by
joining two points; how many such lines would be drawn ?
(1) 25 (2) 29 (3) 27 (4) 28

Ans: Option 4

Question 76

76,  Frord wears v fEam 51 BfR 2 W, w R e @ A 35 #5L w
- Mmmmu%mammwmmﬁammumwm
fergeem T e fife qe eme ?

(1) 10 fafe (2) 13fafe (3) 9fufe (4) 14 7=

Niraj's watch is fast by ﬁl minutes in a day. Piyush's watch lags behind by
35 seconds per hour. If their watches indicated the same fi
s would Neeraj's watch be ahead of Pivush's

me at 8 oclock in the

morning, then by how many minute

watch that night at 12 o'clock ?

(1) 10 minutes (2) 13 minutes (3) 9 minutes (4) 14 minutes

Ans: Option 2
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Question 77

77, Redem Wi w S A4 gl A 2
e, vie, faafza =h

(1) @ (2) OOO
e D

By which Venn-diagram can the given sets of words be shown ?
Teachers, Writers, Married persons.

pline o o
D W

Ans: Option 1
Question 78
N T
78. WA=1B=2C=3,...,7=26 T ‘GODFATHER’ & Wi s ferarel ?
(1) 7-15-6-4-20-12-8-5-18 (2) 7-15-4-6-20-8-5-18-18
(3) 7—15—4_1—6—2—10—8—5—18 (4) 7—15+6—1—20—8—5—18
IfA=1,B=2C=3,...., Z = 26, then how will you write the word ‘GODFATHER’ ?
(1) 7-15-6—4-20-12-8-5-18 (2) 7-15—4-6-20-8-5-18-18
(3) 7-15—46-2-10-8-5-18 (4) 7-15-46-1-20-8-5-18
Ans: Option 4
Question 79
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79. @Wﬁﬁmlaﬂﬁllﬁnaﬁmﬁﬁﬁmﬂﬁa,a@mmﬁﬁﬁmaﬁﬂw
Teia T 3@, 19 1189 foeh mifedh aw sm o@ 7 v e e AT

HedAT :
I oft gft smfa wre T,
1. Ul HEd 3T AvTe.

Tt I

(1) 1 fom s enn 118 < JE HR0 3.
(2) 1171 R 3 ST I3 ) TIE I .
(3) TI® qRomH 3R, Ty 13 @ THE H AR
(4) Tl THE SR AT

In the following question, events I and 1T are given. You have to read both carefully
and decide their nature of relationship. You have to assume that the given
information in I and II are true and decide the correct answer.

Events :

I.  Mr. Hari was killed in a fire.

II. A fire broke out in the company.

Answer Options :

(1) 1is the effect and Il is its principal cause.

(2) 11 is the effect and I is its principal cause.

(3) II1is the effect, but I is not its principal cause.

(4) None of the above is correct.

Ans: Option 4

Question 80

http://www.adda247.com/mr | Adda247'FR'IB°prp | https://t.me/Adda247Marathi


Dell
Line

https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

80. weiict Tamyd foreTa wean e :
343, 324, 3375, 10648, 64

(1) 64 (2) 3375

(3) 324 (4) 10648
Find the odd man out from the following numbers :

343, 324, 3375, 10648, 64

(1) %64 ‘(2-) 3375
(3) 324 (4) 10648
Ans: Option 3
Question 81
81. fIteA wgw 60 fob.dft. simudh afest 20 fpft. s amefl 10 Frofh. ured, qerd

20 fos. . 3 amefi 12 fp.ft. 3 3 wfees 20 fe.di. sfae aneft 15 fop i, S s, @
e |qof 60 fo. M. staren yemaTdie woad an fed 2

(1) arsft 12 fo6.#t. (2) arsit 13 f.5.
(3) daneft 14 fo.o. (4) areft 11 fp.oft.
Niraj covered the first 20 km distance, out of a total of 60 km, at a speed of 10 km/hr,

the next 20 km distance at 12 km/hr and the remaining 20 km distance at 15 km/hr.
What is the average speed of Niraj to cover the 60 km distance ?

(1) 12 km/hr (2) 13 km/hr
(3) 14 km/hr (4) 11 km/hr
Ans: Option 1
Question 82
82. &1 UF Fm 6 Rawia i w o var 3= w18 fww o w6 5w aE S
e T AT A qui st fRdt faam anTdier ?
(1) 45 (2) 4 (3) b (4) 35
Neha can do a work in 6 days and Rekha can do it in 18 days. How many days would
it take them to do the same work if they worked together ?
(1) 45 (2 4 3) 5 4) 35
Ans: Option 1
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Question 83

83. UH T GF 991N W@ =AW 9 THaE S IFHA T 1,800 F T 1,890 Fw. A A1 99A
Za.E. . Fordt = @o et Bt 2
(1 10 (2) 89 3 12 (4) 15
The simple interest and compound interest for 2 years of a sum is T 1,800 and
< 1,890 respectively. What is the rate of interest per cent per annum ?

{1y ‘o 2 9 (SY 12 4 15
Ans: Option 1
Question 84
84. WHIdhl HIVAT TITT 7T Iaea1 HAT FAEen 3R 2
(1) 5/8,9/13, 11/17 (2) 5/8,11/17,9/13
(3) 9/13,11/17, 5/8 (4) - 11/17,9/13, 5/8
Which of the following is in descending order ? :
(1) 5/8,9/18. 11/17 ] : (2) 5/8,11/17,9/13
(3) 9/13,11/17, 5/8 : (4) 11/17,9/13, 5/8
Ans: Option 3
Question 85
85. ST Wa¥ Yo 35% 7 HH! FeA S TN AT EE 40% I FEE. W AT Ao
ITATd BV &eeA & ;
(1) 7%FHt e (2) 9% T (3) 9% wFHI W1 (4) 5% FHHI TN

On reducing the entry fee by 35% in a park, the number of visitors increased by 40%.
Then the percent increase or decrease in the income from the entry fee is

(1) 7% decrease (2) 9% increase (8) 9% decrease (4) 5% decrease

Ans: Option 3

Question 86
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86. ¥R TR eyl Rsmran (NCRD) STReeam arcrmssh e mifd) Pt 37
FH. 2018 7Y gFsh 109 STeHE R AW
9. 2018 HY 730 39827 HAT AicdedT el
. 2018 HY STioTshiaT SelTeshi=aT 21401 w1 ISl
T, WOHiEl FATEIEAT gaifie 2832 T HENEM Hsedl (2018).

Tl Siva faum st 1= ?
(1) Wea 1, & 3T &% (2) ad &, % A0 S
(3) Wed 3, % AN S (4) afawE

According to the report of the National Crime Registration Department, the
information related to Child Crime is as follows :

a. In the year 2018, 109 children were sexually abused every day.

b. 39827 such incidents were reported in 2018.

c. In 2018, there were 21401 incidents of rape of girls.

d. The highest 2832 incidents of rape on children occurred in Maharashtra (2018).

Which of the above statements are correct ?

(1) Onlya,bandc (2) Onlyb,candd
() Onlva.candd (4) All of the abqve
Ans: Option 4
Question 87
87. UgH femw fawm & wrefiedht 7o) fefe AT S S S /T

Tgg FREm wEET (NACO) U e Sl

(1) Rah T FrieE g

(2) ™ g $ed HeAr fom

(3) Y FE e i

(4) TP e R HRiEE

Department of AIDS control has been merged with and now it is
known as National AIDS Control Organisation (NACO).

(1) Family Planning Association of India

(2) Department of Health and Family Welfare
(3) National Leprosy Eradication Programme
(4) National TB Control Programme

Ans: Option 2

Question 88
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88, Wi, WERTER, R 9 N s @ deige s s At
Rl TR T W R FRAE T IO TR SR afe TS S R 2
(1) TR (2) SW WY
(3) WEWY . (4) foew
The schools, colleges, universities, educational as well i instituti

- g, & » ) as private institutions may

witness historical places. Keeping this aim in view, which i i .
that decided to set up ‘Jail Tourism’ ? i1 i

(1) Rajasthan 2 Uttar Prad
(3) Maharashtra b * e
Ans: Option 3
Question 89

89. - g T ey WE A FH WEfETH A -
%, wggE S @ w7 S T I,
5. ‘SEeEaRid A% dEE B wH at A TR,
=. mmﬁmm@@ﬁ%ﬁ@wam.
5. Taew yeed UR G W= TR,
Sl FU T FE e/ ?
(1) FFa & A0 F (@ wa
(3) TFA A, H AMIE (4) ThEEh T & A
Following is the work of Dinabandhu Sahu, honoured by NIRI:

A book of ‘Farming the Ocean’ on sea algae.
‘Biodiversity of Life’ based on Mary Kom.

nternational Society for Energy Environment and

a.
b. Production of short film

c. Fellowship and Research in [
Sustainability.

d.  Sea farm training ba

Which of the above sentences is/are incorrect ?

(1) Onmlyaandc (2) Onlyb
(3) Onlya,candd (4) None of the above

sed on Project Chilika.

Ans: Option 4

Question 90
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90. .30 <t @l B ATy s ?
7. a4 - 3357 kg
q. 3= UERE g, qEER 3 SERY ddl PR
. 127, 12 ¥ T grEdret 3 g
5. I RS GEUEST IWE

Tt S : :
(1) Had 31 T ' (2) ad & AT S
(3) T A, FAME (4) oieded o

Which of the following are characteristics of GSAT-30 ?

a. Weight —3357kg

b. Provides high quality Television, Telecom_mmlication and Broadcast services
c

d

Equipped with 12C, 12Ku Band Transponder
High quality communication satellite

Answer Options : :
(1) Onlyaandc ‘ (2) Onlybandd
(3) Onlya,candd (4) All of the above
N7
Ans: Option 4
Question 91

91. T Ts fifen wieheRd s sEaen 2021 91 TS HEE FEEE TR

firasten 31 ?
(1) =35 2 fEw
(3) TSHEERI (4) TEHEEAE TE

Which of the following novels written by Sonali Navangul has won the ‘Marathi
Sahitya Akademi Award’ in 2021 ?

(1) Swachhand (2) Dream Runner

(3) Prakashvata (4) Madhyaratrinantarche Taas
Ans: Option 4
Question 92
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92. mmﬁaﬁaagwnﬁéﬁ(zolgmﬁnﬂﬁﬁm WWWW
. Wmm(m).mﬁmwﬁﬂﬂ“ﬁmmﬁﬁ”%ﬁ
5. e i T b 9E.
%, TIhE s e
= NS O, PIETBT Jof STAAEAE AT

uu‘hﬁaﬁ:
1 =%,9%, 3 2 9,3,
(4) ,9, #, S

3 S, %, 9 A
Winner of the Nobel Prize for Economics (2019), Abhijeet Banerjee’s life journey till
date is given in points below. Reorder them and choose the correct option.

a. Contributed in preparation of Scheme Nyuntam Aay Yojana (NYAY) for
poverty'eradicatibn in India.
b. Written a book titled ‘Poor Economics’.

c.  Received the Infosys Prize. :
d. Studied economics at Presidency College, Kolkata.

Answer Options :

(1) ¢ b,d,a s d.b. o ¢
(3) d,c,b,a (4) ¢, b,ad
Ans: Option 3
Question 93

93. 2021@%%%@@@3@%@@%@@&3@?@?

(1) FdEe Tiee 3 (2) TS W AT 2 I

(3) TES Fishl W IATh 3 331 (4) o EW

1I:_:ione‘?l Messi was selected for which of the following awards in 2021 for the seventh
ime ?

(1) European Golden Shoe. (2) World Player of the Year

(3) World Soccer Player of the Year (4) Ballon d’Or

Ans: Option 4

Question 94
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94. %@mm@qmmm‘mwmmwmﬁ
H. TUUH.IE. 99 W
¥, O S AT e
®. wwHe Tea fifty =g g
5. fosmme o=, doug. e figsd

gt 39 ;
(1) ed 3 afor § (2) - ad & AT B
(3) S d (4) od A

On the eve of 75" Independence day, who was honoured with the peacetime
Gallantry Award — ‘Ashoka Chakra’ ?

a. ASI Babu Ram

b.  Police Constable Altaf Hussain

e. Lt. Governor Girish Chandra Murmu

d. Governor of Mizoram, P.S. Shreedharan Pillai

Answer Options :
(1) Onlyaandb (2) Onlycandd
(3) Onlyb (4) Onlya
Ans: Option 4
Question 95

—

95. Wreiiel fau™ S&m =

. fopet 3 TSl ikl ST SR e .
Wm%%ﬁmﬂlﬁwﬁﬁﬁﬂﬂmwmmmm“ﬁém

T
TR

aﬂaﬁaﬁlaﬁmﬁﬁum/ﬁwﬁﬁﬁﬁw%/ﬁl%ﬂ?

(1) | @,

(3) 1 & & gl (4) SRR B T

Consider the following statements :

Kiwi is India’s first certified organic fruit. .
Arunachal Pradesh is the first State in the country to obtain an organic
certification for its Kiwis.

Which of the statements given above is/are correct ?
(2) Onlyb

(4) None of the above

a.
b.

(1) Onlya

(3) Bothaandb
: PTO.
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Ans: Option 3

Question 96
96, TuW T SEm ASET (AE) (PMAY-U) Faid 18 War, 2021 W9 - — =
T SHIUATT SATEA Bl
(1) 681@@ | (2) 1288 @@
(3) 165-8 @@ (4) 1092 /&

Under Pradhan Mantri Awas Yojana (Urban) (PMAY-U), as on 18th January, 2021
houses have been sanctioned.

(1) 68-1 Lakhs . (2) 128:8 Lakhs
(3) 165-8 Lakhs (4) 109-2 Lakhs
Ans: Option 4
Question 97

97. mﬁa@ﬂmmaﬁﬁwﬁﬂmmmmmﬁﬂmmm
ufieh fgeh B ot o gfoer srsfere 2

(1) 2015 (2) 2016 (3) 2017 (4) 2018

In which year did Avani Chaturvedi, Bhawana Kanth and Mohana Singh create
history by becoming the first women pilots to be commissioned into the fighter

stream of Indian Air Force ?
(1) 2015 (2) 2016 ()" 2017 (4) 2018

Ans: Option 2

Question 98

98. mmaﬁwﬁmwzmmﬁmwwmwmmm?

(1) <9 (2 3 (3Tr g, 3T AL
(3) #Hwgu. (4) =
Which Space agency has launched the first all-electric expeﬁmental ai.rcraft K-57
Maxwell’ ?
(1) - LAPAN (2) ISRO
(83) CNES (4) NASA
Ans: Option 4
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Question 99

i 19 TS
.05 ue. 58— .48 (PSLV — C48) &1 SaT=a WM WRagR 11 feda, 20

O Tt S s ST ST FrEvA ST ?
(1) RISAT - 2BR1 (2) EMISAT
(3) CARTOSAT - 2B (4) GSAT-31
Which artificial satellite was launched by India on 11*h December, 2019 through
PSLV - C48 launcher ?
(1) RISAT - 2BR1 (2) EMISAT
(3) CARTOSAT - 2B (4) GSAT-31
Ans: Option 1

Question 100
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100. 9@mmmmwawammammmﬁ%
e ST ST ST S G TR oA FOM I T F,
A, ge ST — a1 O HATAT EfEe STHTE T IR JEET.
3. o Ad 15en ol Rewd wifeey ST AT,

F. Sy uireuerE Q.

T ‘gaml & SaieE e 9.
it 3 :

(1) , 8, 9 37001 A

(2) B, %, FAMTH

(3) @, 9, 7 AT g

(4) g,ai,aaqﬁm

Select the right option regarding the Chairperson of 934 Akhil Bhartiya Marathi
Sahitya Sammelan, Senior Literary Author and Thinker, Father Francis Dibrito’s

life happenings till date.

National Award for translation of ‘Subodh Bible — Nava Karar’ book by Sahitya

a.
Academy.

b. Chairperson of 15th Marathi Christi Sahitya Sammelan in Pune.

¢.  The ordination as a Catholic priest.

d.  Chief Editor of newsletter ‘Suvarta’.
Answer Options :

(1 c¢,d,banda

(2) d,c,aandb

(3) c¢,b,aandd

(4) d,a bandc

Ans: Option 1
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